J

ENGINEERING CHANGE ORDER

Hemtack
REQUEST DATE 12/17/2021 REQUESTED BY | H. AMEZQUITA REQUESTED 12/21/2021 ECO# | ECO-00045
RELEASE DATE
AFFECTED PRODUCT LINES ‘ MOTORIZED AND CCO CUSTOM ROMAN SHADES (INSIDE AND OUTSIDE MOUNT)
REASON FOR CHANGE ‘ POST BRACKET INTRODUCTION AND NEW PART NUMBERS RELEASE
RELEASE NEW PART NUMBERS FOR POST BRACKETS KITS
DESCRIPTION OF CHANGE
COST IMPACT N/A
PART
DOCUMENT / OLD | NEW FOFE'\,G’C?,B,S) : DISE&?:EON
SR NUEER | || EEy DOCUMENT/ PART DESCRIPTION CHANGE DESCRIPTION AFFECTED ety
Yes, or No (OBSOLETE)
(RETUR(';ISE\SNDOR)
MPMI1400 = 1 BRACKET POST KIT, 2 PCS SMALL NEW PART NUMBER RELEASE NO
MPMI1401 = 1 BRACKET POST KIT, 3 PCS SMALL NEW PART NUMBER RELEASE NO
MPMI1402 = 1 BRACKET POST KIT, 4 PCS SMALL NEW PART NUMBER RELEASE NO
MPMI1403 - 1 BRACKET POST KIT, 2 PCS LARGE NEW PART NUMBER RELEASE NO
MPMI1404 - 1 BRACKET POST KIT, 3 PCS LARGE NEW PART NUMBER RELEASE NO
MPMI1405 - 1 BRACKET POST KIT, 4 PCS LARGE NEW PART NUMBER RELEASE NO
ADDITIONAL BRACKET KITS MUST INCLUDE: POST BRACKETS, #8 PHILIPS 1 %" SELF TAPPING HEX HEAD SCREWS AND PLASTIC WALL ANCHORS. ALL PACKAGED IN A POLY
INFORMATION BAG. MUST BE INVIDUALLY MARKED WITH LABEL AS SHOWN IN PAGE 3.
AFFECTED DOCUMENTS / PROCESSES (CHECK ALL THAT APPLY)
BOM PRODUCT Qc PART ASSEMBLY INSTR PROCESS WORK
CONFI/G PART SPEC/ CHECKLIST DRAWING ] DRAWING ] SHEET [ VISUAL AIDS INSTRUCTIONS
ECO APPROVALS ROUTING
APPROVAL APPROVED
APPROVER R APPROVER NAME APPROVAL STATUS o NOTES
PHASE Il MANAGEMENT (US - DL) T. DAVIDSON APPROVED 12/20/2021
PHASE Il PROD DEV (US - NY) L. HUNT APPROVED 12/17/2021
MANAGEMENT (MX) L. MONTEJO APPROVED 12/17/2021
QC / ENG (MX) H. AMEZQUITA APPROVED 12/17/2021
IT (MX) E. CASTELLANOS APPROVED 12/17/2021
PRODUCTION (MX) [
MATERIALS (MX) O




WILL BE MODIFIED BY IT (MX)

WILL BE MODIFIED QC / ENG (MX)

WILL BE MODIFIED QC / ENG (MX)

WILL BE MODIFIED QC / ENG (MX)

WILL BE MODIFIED QC / ENG (MX)

WILL BE MODIFIED PHASE I (USA)

WILL BE MODIFIED QC / ENG (MX)

XX OOOX XX

WILL BE MODIFIED QC / ENG (MX)

=21=2021

nevjised

)

2 : o ¥ 2
8 7 "‘}j B
-’
3 ‘?’r\\(




POST BRACKET KITS ID LABEL REQUIREMENT
(WHITE LABEL, %” X %”)

MPMI1400

S-2

MPMI1401

S-3

MPMI1402

S-4

BRACKET POST KIT, 2 PCS SMALL

BRACKET POST KIT, 3 PCS SMALL

BRACKET POST KIT, 4 PCS SMALL

MPMI1403

MPMI1404

MPMI1405

R R
w N
| |

L-4

BRACKET POST KIT, 2 PCS LARGE

BRACKET POST KIT, 3 PCS LARGE

BRACKET POST KIT, 4 PCS LARGE



RERMARAT

J. Paxton Enterprises Inc.
119-2, LANE 250, CHUNGHWA WEST ROAD,
CHANGHUA TAIWAN R.O.C.

B b EEPE 250511955 > 2
Tel: 886-4-7515818  Fax: 886-4-7510963

Quotation
Date :Dec. 17,2021
Item : Brackets for Fabric Roman Shade
Material : Metal
Surface treatment : zinc plated
Terms : FOB Taiwan
Bracket Size Qnty Unit Price MOQ Note
1pc Bracket / Kit with 5pcs Screw(#8 philips 1-
1 PC Bracket / Kit US$0.41 1,000 Kit 1/4" self-tapping Hex Head) and 5 pcs plastic
wall anchor in a poly bad _
2pcs Bracket / Kit with 9pcs Screw(#8 philips 1
2 PCS Bracket / Kit US$0.79 1,000 Kit 1/4" self-tapping Hex Head) and 9 pcs plastic
#HNW - S wall anchor in a poly bag _
2"y 1-5/8" x 1" 3pcs Bracket / Kit with 13pcs Screw(#8 philips
. " 3 PCS Bracket / Kit US$1.16 1,000 Kit x 1-1/4" self-tapping Hex Head) and 13pcs
with 1-1/16" screw & . :
. plastic wall anchor in a polv bad .
wing nut 4pcs Bracket [ Kit with 17pcs Screw(#8 philips
4 PCS Bracket / Kit US$1.55 1,000 Kit 1-1/4" self-tapping Hex Head) and 17pcs
plastic wall anchor in a polv bag _
5pcs Bracket / Kit with 21pcs Screw(#8 philips
5 PCS Bracket / Kit US$1.92 1,000 Kit 1-1/4" self-tapping Hex Head) and 21pcs
plastic wall anchor in a polv baa

Bracket Size Qnty Unit Price MOQ Note
1pc Bracket / Kit with 5pcs Screw(#8 philips 1-
1 PC Bracket / Kit US$0.45 1,000 Kit 1/4" self-tapping Hex Head) and 5 pcs plastic

wall anchor in a polv bag

2pcs Bracket / Kit with 9pcs Screw(#8 philips 1

2 PCS Bracket / Kit US$0.86 1,000 Kit 1/4" self-tapping Hex Head) and 9 pcs plastic
# HNW -L wall anchor in a polvy bag
2.5/8" x 1-5/8" x 1" 3pcs Bracket / Kit with 13pcs Screw(#8 philips
. " 3 PCS Bracket / Kit US$1.28 1,000 Kit x 1-1/4" self-tapping Hex Head) and 13pcs
with 1-3/16" screw & . -
. plastic wall anchor in a polv bag
wing nut 4pcs Bracket T Kit with 17pcs Screw(#8 philips
4 PCS Bracket / Kit US$1.71 1,000 Kit 1-1/4" self-tapping Hex Head) and 17pcs

plastic wall anchor in a polv baa

5pcs Bracket / Kit with 21pcs Screw(#8 philips
5 PCS Bracket / Kit US$2.12 1,000 Kit 1-1/4" self-tapping Hex Head) and 21pcs
plastic wall anchor in a polv bag

&-21-2021




	REQLABEL.pdf (p.3)
	Copy of Brackets for Fabric Roman Shade Quotation-12-17-2021.pdf (p.4)

